Y4 — Autumn — Block 2 — Step 3 — Add two 4-digit numbers — one exchange Answers

Question Answer

a) 5,659
b) 5,661
c) Inpartb), 10 ones needed to be exchanged for 1 ten. Part a) was easier because
1 there were no exchanges.
d) 10 counters in one column need to be exchanged for 1 counter in the next column to
the left.

a) 6,982
b) 6,975
) c) 6,955
d) 5,177

N

sl s = =
=lw o+
Hl=|w ©

N|le v T

O~ o -
oO|e|= ©

+
N

Nlwvw ~w T

00|lew o =

Wle w ©

N|~ wn | T
Wlw o =
O|= » 0

Alex’s

Rosie has written the total of 3 + 8 in the tens column, instead of exchanging 10 tens for
1 hundred.

Jack has not written down the ‘1’ under the hundreds column.

Teddy has not lined the digits up correctly.
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